Cylinders:

Two congruent parallel bases that are CIRCLES
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Height of a cylinder is the
perpendicular distance between
the bases.
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Lateral Surface Area of a Cylinder:
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surface Area (SA) of a cylinder:

2B = 2 circles

@,/ = 2mr?

LA = 27rh \

27 »

SA = LA + 2B — SA = 2xnrh + 2nr?

Find the SA of this cylinder to the nearest tenth.
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Find the SA of this cylinder. Leave answer in terms of «.
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Given the radius of a cylinder is 6 in and the SA = 252r in?
Find the height of the cylinder.
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Find the SA of this solid.
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